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a=—,b= =1
(1)a 3 c
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2)a=1b=0,c=1
(3)a=Lb=Lc=0

@)a=-1,b=Lc=1

Ife I% y(x)=j(2t2—15t+10)dt & 93 (a,b),

a> 1, UR W, Y@ X + 3y = -5 & FHR
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SOLUTION 3. Official Ans. by NTA (1)
i d
L Official Ans. by NTA (3) Sol. Slope of tangent at P(t, t3) = —y}
2 2 (t,7)
Sol. X—+y—_1 X +y =ab
a’ b’ = (3x2),,, =312
2%, 2y,y' So equation tangent at P(t, t3) :
P y—6=3ex-1
. for point of intersection with y = x3
-X
=y, '= 21_ ...(D) x3—-3=32x-38
a 'y
= X-tX2+xt+12)=32(x-1t)
L 2X +2y1y'=0 for x #t
LX, X2 4+ xt+ 2 =32
=Yy, = ...(2)
Y, = xX2+xt-22=0 =>x-t)x+2t)=0
. - _ . _Rt3
Here (x;y,) is point of intersection of both curves So for Q: x =-2t, Q(-2t, -8¢%)
3 3
o a’b - ab? ordinate of required point : ! +?t =2t
1 9
a+b a+b 4.  Official Ans. by NTA (4)
-x,b? X, Sol. x=y*xy=k
. tan 0 = | Y=Y, | a'y, for intersection y> =k ...(1)
’ 21,2
I+y 'y | ‘ 2b2 Also x = y*
a'y;
dy dy 1
2 2 = 1=4y’ = = L =—_
tan 0 = by, +atxy, | ¥ ix dx 4y’
a’y’ +b’x; ‘ .
forxy=k= x=— z
— y 2
tan 0 = % -
2k = 1=- k2 & £
2. Official Ans. by NTA (3) y~ dx g
— 2 ;
Sol. a+b+c=2 ..(1) N ﬂ: y g
| dx k £
] :
and =1 Curve cut orthogonally 2
Xl0.0) 3
£
)
2ax+b — x| =21 5
|(0 0) 4 k .%;
b=1 oL 5
YTk E:
Curve passes through origin 3
. from (1) y’ =k g
So,c=0 1 g
= 5 z
anda=1 (4k) 3
= 4 = (4k)° 3
4 H
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S.

Sol.

Official Ans. by NTA (406)

y(x) = j 2t —15t +10)dt
0

y'®]_ =[2x2 —15x+10] =2a’ 152 +10

Slope of normal =—%
= 2a’-15a+10=3=a=7
1, .
& a= 5 (rejected)
7

b=y(7)= j(zt2 — 15t +10)dt

0

3 2 7
= {ZL — 15t + IOt}

0

= 6b=4x7"-45x49+60x7
|a + 6b| = 406




